D (m)

J

Q/Qo(t = O[twpa])
y/D(t=-10)

n0

QO (m”3/s)

Q (M"3/s) (t=0)
Q/QO(t=-10)
Q (M"3/s) (t=-10)

Q(t)=a bt

In b =A(In Q)/At

b

a = Q(t=0)
‘EAeyxog: Q(t=-10)

y/D
Q/Q0
Q (m"3/s)

t=(InQ-Ina)inb
‘EAeyxog

V/VO

VO (m/s)

V (m/s)

Q (m”3/s) (t=40)
AQ (m73/s) (t=40)
y/D

Q/Q0

QO (m~3/s)

D

Deptr

QO (m”3/s)
Q/Q0

y/D

VIVO

VO (m/s)

V (m/s)

0.6
1.0%
0.5
0.45

0.015

0.532

0.266
0.330
0.176

0.0416
1.0425
0.2661

0.176

0.800
0.863
0.459

13.1
0.459
1.007
1.882
1.894

1.405
0.946
0.700
0.709
1.334
0.847

0.9
1.569
0.603
0.633
0.903
2.466
2.226

0.8
0.7%
0.52
0.48

0.015

0.959

0.499
0.371
0.356

0.0337
1.0343
0.4986

0.356

0.800
0.863
0.828

15.0
0.828
1.007
1.908
1.920

1.921
1.094
0.700
0.709
1.543
0.956

1.0
1.738
0.629
0.650
0.914
2.214
2.024

1.0
0.5%
0.55
0.5

0.015

1.469

0.808
0.400
0.587

0.0320
1.0325
0.8081

0.587

0.800
0.863
1.268

14.1
1.268
1.007
1.871
1.883

2.901
1.633
0.700
0.709
2.303
1.184

1.2
2.389
0.683
0.684
0.938
2.113
1.981

1.2
0.4%
0.55
0.52

0.015

2.137

1.175
0.429
0.916

0.0249
1.0252
1.1754

0.916

0.800
0.863
1.845

18.1
1.845
1.007
1.890
1.902

3.186
1.341
0.700
0.709
1.891
1.146

1.2
2137
0.627
0.649
0.914
1.890
1.727



